[Collect section-summaries]

Remember, your section summaries must have YOUR NAME.

Page 17: Note that the horizontal shift rule is easy to get backwards.  (“Since it’s a plus sign, and the positive direction on the horizontal axis goes to the right, the graph of y = f(x+c) is the graph of y = f(x) shifted c units to the right.  Right?”  Wrong!)  Ditto with the horizontal stretch rule.

[Discuss the graph of y = x2 and how it relates to the graphs of y = x2 + 1, y = x2 – 1, y = (x+1)2, y = (x–1)2, y = 2x2, 

y = (1/2) x2, y = (2x)2, y = (x/2)2, y = – x2, and y = (– x)2, using the rules on page 17.  Verify that these relations make sense by seeing what happens to the point (1,1) on the graph y = x2 under these different transformations.]

Question: Let f(x) = 1/x2 and g(x) = cos x.  What is the domain of g/f?

..?..

..?..

It’s not all of R.  In particular, since f(0) is undefined, g(0)/f(0) is undefined, so g/f is undefined at 0.

What is true is that (g/f)(x) = x2 cos x for all x ≠ 0.

The graph of g/f looks like the graph of x2 cos x with the point (0,0) removed, and in the next section we’ll learn that, even though (g/f)(0) is undefined, the limit of (g/f)(x) as x approaches 0 (from either direction) is 0.

Any questions about sections 1.1 and 1.2?

Absolute value and distance (preparatory for section 1.3):

Recall that |x – y| equals the distance between the numbers x and y on the number line.

Check that the following are equivalent (in the sense that if x satisfies ANY of them, it satisfies ALL of them):

x ( (a – 1, a + 1)

x > a – 1 and x < a + 1
x – a > –1 and x – a < 1
|x – a| < 1

x lies (strictly) within distance 1 of a
